
Answers for Lesson 1-3, pp. 16-17   Exercises 
  
1. 35 2. 2 3. 5 

4. 23 5. 1 6. 107 

7. 60 8. 12 9. 4 

10. 10 11. 26 12. 6 

13. 14 14. 65 

15. a. 55m 

 b. 1,100 words 

16. a. 24d + 4 

 b. $76 

17. 15 18. 735 19. 11 

20. 15 21. 91 22. 16 

23. 99 24. 125 25. 2 

26. 10 27. 8d; 24 km 

28. a. 153w 

 b. 306 Calories 

29. Answers may vary. Sample: You did not work within 
the grouping symbols first. 

30. 10 31. 100 + 25n; $400 

32. a. 5 + 2r 

 b. $17 

 c. 5 rides 

33. Answers may vary. Sample: Liam has 5 fewer than 
3 times the number of cards that Jamie has. Jamie 
has 5 cards. How many cards does Liam have? 

 

 

 


